
Recap: Lifecycle Model (OLG with Government)



Government

↭ Government sources its funds through taxes (Tt) and borrowing from the young (Bt).

↭ Government uses its funds on consumption (Gt), capital formation (K g
t ), transfers/subsidy,

or debt repayment (Bt+1).
↭ Government budget constraint (GBC) for each period t:

Gt + K g
t+1 + (1 + rt)Bt = Tt + Bt+1

↭ Government Inter-temporal Budget Constraint (GIBC) can be written as:

Bt = Tt → Gt
Rt

+ Tt+1 → Gt+1
RtRt+1

+ ... + lim
s→↑

Bt+s
RtRt+1 ... Rt+s

↭ Transversality condition ensures that the government’s debt is sustainable.

lim
s→↑

Bt+s
RtRt+1 ... Rt+s

= 0
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Fiscal Policy in OLG Model

↭ Assume that ω = 0, i.e., individuals do not value consumption when young.

↭ Budget constraint when young:

at+1 + bt+1 = wt → εyt

↭ Budget constraint when old:

cot+1 = (1 + rt+1)(at+1 + bt+1) → εot+1

↭ Lifetime budget constraint:

cot+1
1 + rt+1

= wt →
(

εyt + εot+1
1 + rt+1

)

↭ Generational account ε̂t = εyt + ωot+1
1+rt+1

.
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Key Conditions

↭ Firm profit maximisation:

wt = A(1 → ϑ)kε
t rt = Aϑkε↓1

t

↭ Transition equation for capital:

kt+1 = at+1 + kg
t+1 = wt → εyt → bt+1 + kg

t+1

↭ Market clearing:

Labour: Lt = N
Capital: Kt = Nat + K g

t
Bonds: Bt = Nbt
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